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Today what triad is it? AtÊtÈrammaÓa. “AtÊtÈrammaÓÈ dhammÈ. (Those that take the past as object.) AnÈgatÈrammaÓÈ dhammÈ. (Those that take the future as object.) PaccuppannÈrammaÓÈ dhammÈ. (Those that take the present ones as object).” You will go to the object chart (10, 3, 12, 5, 6, 6,21, 8), the ÈrammaÓasangaha, in the third chapter (of the Abhidhammatthasangaha).





The first ten are the dvipaÒcaviÒÒÈÓa. Then the next three are manodhÈtu. The twelve are the three santÊrana, kÈmÈvacara vipÈka eight and hasituppÈda. Then we have twenty. The twenty are the twelve akusala, four kÈmÈvacara kusala without ÒÈÓa and also the four kÈmÈvacara kiriya without ÒÈÓa. Then there is the group of five. That is the kÈmÈvacara kusala accompanied by ÒÈÓa and kusala abhiÒÒÈ. Then we have six. They are kÈmÈvacara kiriya accompanied by ÒÈÓa, kiriya abhiÒÒÈ and manodvÈrÈvajjana. Then there are another six, the second six. They are the ar|pÈvacara second and fourth cittas. Next there is the group of twenty-one. They are the r|pÈvacara fifteen and the first and third ar|pÈvacara cittas. And then the last group is the lokuttara eight.





What is the first one? AtÊtÈrammaÓa dhamma. Which take atÊta only (past object only)? The second six, ar|pÈvacara second and fourth jhÈnas. The second ar|pÈvacara jhÈna takes the first ar|pÈvacara citta. The object of the fourth ar|pÈvacara citta is the third ar|pÈvacara citta. Right? The object of second ar|pÈvacara citta is first ar|pÈvacara citta. The object of fourth ar|pÈvacara citta is the third ar|pÈvacara citta. They are always past. Those take the past only. Those that take the past only are three second jhÈna ar|pÈvacara cittas and the three fourth jhÈna ar|pÈvacara cittas and then thirty cetasikas.





Then there are those that take past, present and also future. What are those that take the past and others? Can you tell from 12, 20, 5 and so on (the object groups)? They are 12, 20, 5, and 6 and 47 cetasikas. We leave out 3 virati and 2 appamaÒÒÈs.





Now how many aggregates? Only four. Bases? There are only cittas and cetasikas; so there are two. DhÈtus (elements)? Two. And Truths? There is akusala. So there is Dukkha and Samudaya.





Then the second one is anÈgatÈrammaÓa (those that take future objects). There is no consciousness that takes the future only. When they take the future, they also take others. When they take the future, it is the same (object groups) - 12, 20, 5 and 6. Then we have to leave out the appamaÒÒÈ here. How many aggregates? Four. Bases? Two. Elements? Two. Truths? Two because there is akusala, so Dukkha and Samudaya.





Now the third, we need to find those that take the present only and those that take the present as well as others. First what are those that take the present only? 10 and 3, only 13 cittas (dvipaÒcaviÒÒÈÓa and manodhÈtu). ‘ManodhÈtu’ means paÒcadvÈrÈvajjana and the two sampaÔicchana. Right? So among the cetasikas you do not get chanda, pÊti and viriya; so 13 minus 3 is 10. There are only ten cetasikas that take the present only.





